i
i
of
4
iy
1
0

-_O O
EH 23280
_ NE ¥y
A T-&% 710|127} QlofM W21 HetsiH YITAE ARIAZ & YT S st 713 B4
M2 ZOIE) HEE HHtE 0| SOISSR HEY RXE £lof Rict. £0I Bt +
- 0.01mm 7Hx| o34h &l @ e ol 72 93 Walg golstH Bt
A & E8lols
= PCIE R
==
- AEl, EO7shRIE), HAtHE) LEAH

= AEl RE 8.8 (ISO 4762)

a8l
Ly I, | s
= 17
h
L [0,01]1A
=S e
T-&2% Alo|= x|% LEAF i
h6 1 a p - L ISO 4762
0,6 +0,01
[mm] [mm] [mm] [a]
10 15 0,01 10 20 6 8 M 6x25 53 23280.0110
25 0,20 10 20 6 8 M 6x35 76 23280.0210
12 15 0,01 12 20 6 8 M 6x25 58 23280.0112
25 10,20 12 20 6 8 M 6x35 83 23280.0212
14 25 £0,01 14 32 8 9 M 8x35 202 23280.0114
50 £0,20 14 32 8 9 M 8 x 60 357 23280.0214
16 25 £0,01 16 32 8 10 M 8 x 45 221 23280.0116
50 £0,20 16 32 8 10 M 8x70 371 23280.0216
18 250,01 18 40 10 15 M10 x 50 371 23280.0118
50 £0,20 18 40 10 15 M10 x 75 613 23280.0218
22 25 0,01 20 40 14 15 M10 x 55 435 23280.0122
50 £0,20 20 40 14 15 M10 x 80 679 23280.0222
28 25 £0,01 22 46 16 20 M12 x 60 661 23280.0128
50 £0,20 22 46 16 20 M12 x 90 985 23280.0228
g of

ENHALDER 377






